SM2EE H# B REEHE CRTLBE 3. 7 2kw (kwh)

A RE=S BRHEE=Z TEE e

4 395 113 282

5 443 124 319

6 360 114 246

7 450 127 323

8 361 125 236

9 304 112 192

10 216 91 125

11 94 55 39

12 33 21 12

1 10 9 1

2 88 46 42

3 381 122 259

&t 3,135 1,059 2,076 [FEEBIA 66. 22%
BEEBHIES 1, 059kwh X 40. 84HM = 43, 250
SEEURA 2, 076kwh X 24.00M = 49, 824
TBEAYY b 93, 074
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REEE (VATLEE 9. 9kw) (kwh)
A REE BRHEE TRE e
4
5
6
i
8
9
10 1,042 116 926
" 338 90 248
12 0 0 0
1 0 0 0
2 0 0 0
3 230 50 180
A&t 1,610 256 1, 354 b 84. 10%
BEHIRE S 256kwh X 40. 84H = 10, 455H
SEEAXA 1, 354kwh X 21.00MH = 28, 434H
BEAY Y b 38, 889
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SM2EE J¥ B REEE (VRXTLEE 5. 5kw (kwh)

A RE=S BRHEE=Z TEE e

4

5

6

7

8

9

10
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12 37 27 10

1 187 110 77

2 267 117 150

3 748 216 532

a&t 1,239 470 769 TEIE 62.07%
BEEBHIES 470kwh X 40. 84HM = 19, 195M
SEEURA 769kwh X 21.00M = 16, 149/
TBEAYY b 35, 344
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